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SHAS A
oIy Y MEZo 22l
oled 22 )
(o
SN ED B (3H) - MEAY - BAS %@i HD=2
= 707
Al 2,282
- 167,702
olstd QE=SE HisgA 22 11,475 10,080 1,395
201 LBt Y| 6,175 6,130 45
01 AP 22| d| 3,175 3,130 45
OBFH 2Z NA R0 1,500
o0 AAIK0l 80 *8=1,0000H4 640
o Etd2dH EEE M 860,000 860
o= ox5 5 2 135,000 x4 H 540
Osx=9 Xz 70,000 1504 1,050
OQOEZZAN =2 85
o ASEAHD 41,000 = 1CH 41
o MsS=EHI 44 000& = 1CH 44
02 E2=22%H| 3,000 3,000 0
O&tF=XEH &4 HIE 3,000,000& 3,000
202 o4l 4,800 3,600 1,200
01 2Ll 4,800 3,600 1,200
OHisg A =222 04|
10,000 x4 10 12 4,800
405 XHAHFIEHI 500 0 500
01 XA 2 Z F S| 500 0 500
OHiEg A et OXE Itiet 2¢
500,000 500
ASX BHsSIEA 22 25,014 26,100 A 1,086
201 LBt 20,214 22,500 N2,286
01 AP 22| H| 5,878 6,564 /\ 686
O & SHEHH ARE F2¢ 1,500,000 1,500
OFSE== PN E- ey 620
o O 500
2 E A 500,000 500
o CO/HC 120,000 120
Sz, o3 S AY 135,0008! *4% 540
OXSX BisIoEA DX A QA
70,000& 208 A 1,400
OXANsEEZTey EHFLYH
110, 000& *2JH 220
OXLEA & Z23H HE 222 M
1,000,000& 1,000
OXDXAMOI4H OOIH HI& 232 %26,0002 598
02 Z2=2=24%4| 14,000 15,600 A 1,600




AN 2IEMD
M oIy ¥ MEIof 2e
Selr Hored 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZLZA 2 S €85 23
1,000,000& »12& 12,000
OHgsZdls =4&H & 2,000,000 2,000
03 A2 S HI 336 336 0
OO0ttt HHEIJIA 2283E 29
28,000& x123] 336
202 04l 4,800 3,600 1,200
01 S LHOIYI 4,800 3,600 1,200
ObiEJtA &3 2R 0l
10,000 *4H 10 «12& 4,800
SHFEM WX S MEBEY A 4,650 4,200 450
201 Let24d] 2,100 2,100 0
01 At 22l 2,100 2,100 0
Ootag ZSaA 228 2|
7,000& 28 %1502 2,100
206 M= Hl 2,550 2,100 450
01 MHZ 8l 2,550 2,100 450
OAFEZHY 7 420,000 58 A 2,100
ORelrFZEHI gtdiel 7 90,000& =54 450
EEE 22 124,720 110,564 14,156
101 @124 Hl 61,500 57,000 4,500
04 JIZHHZ22XREE S 61,500 57,000 4,500
OEZMNEREZ AR 61,500
oJlE=a 41,0003 *10H x5 x4 F=+3E »23] 49,200
o =4y 41,0002 *10% *47 *32 23 9,840
o AXtRa=¥ 41,000& *10E «3& »23] 2,460
201 €24l 62,620 52,964 9,656
01 At 22l 15,530 13,360 2,170
OZMERE =S OXAM I 7,300
o ZJI& 110,000& 60t A 6,600
o0 =AlZ 70,0003 102t A 700
OLDX A CIolE HIE 233 170,000 3,910
OstgMEREg=s €8 U =2 ME
70,000& =104 700
OAMESZAIE B2 dteld M=
10,000 803 800
ODXNNE=EEZEH EUFZLH
110, 000& *2 K 220
OANEdES =AM 2 BEZH AREEZPY
400,000& *23l 800
ODXNMN E=F M= 60& 20,0004 1,200
OMAIQIM(EE Y 2t Z) 300& 2, 0004 600




AN 2IEMD
M oIy ¥ MEIof 2e
S torEad 2el (9 ® =)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 2324l 47,090 39,604 7,486
OdMERE S DIM RERS 46,760
o Yt H™ 270& *170,0002A 45,900
o sJl%H 1,720& 25024 »23] 860
OXs0IHd B320182 33,0002 x10& 330
203 YR =&l 600 600 0
03 AIMZ=XH R =AY 600 600 0
OANEES 8ZMHEREza 29 28 600,000 600
AT o = Hl 22l 2,282 3,000 AT18
Al 2,282
301 L2 A S 2,282 2,000 282
Al 2,282
01 MEIBEE 2063 2,282 2,000 282
OS2 HAS 2,281,360& 2,282
Al 2,282
44 04 oF M 2t 2 200 2,100 21,900
201 Let24d] 200 2,100 A 1,900
01 At 22l 200 2,100 21,900
OMHZEHI B AT 200,000 200
Sd0E AEE AT A 2,050 0 2,050
= 407
- 1,643
101 @14 dl 2,050 0 2,050
= 407
- 1,643
04 JIZHHZ2XREES 2,050 0 2,050
OsdIOIE A=E2 ZAE 2,050
oJdlE=a 41,0003 2H x5 «4= 1,640
= 326
- 1,314
o FFE 41,0003 x2H 4= 328
= 65
- 263
o AXtRaE=¥ 41,0003 +2H~13 82
= 16
- 66
HEd =4 353,070 338,220 14,850
Al 351,200
- 1,870
oEd 235 353,070 338,220 14,850
Al 351,200
- 1,870
SO MEfStE |X2el 350,000 335,000 15,000




2N BHEH D
M qjeigy T4
& MEd B (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Al 350,000
401 A& HIZL 2 0HY| 350,000 335,000 15,000
Al 350,000
01 Al& H| 350,000 332,965 17,035
OsJId X2l 350,000
o =J|dB MESHE SX22(2A)
35,000,000& 35,000
Al 35,000
o =J|dB MEGHE SXZE(HA)
65,000,000& 65,000
Al 65,000
o =J|dB MESHE SX22(FH)
40,000,000 40,000
Al 40,000
0 SJIdME MEHSIE K22 (Rlal2)
210,000,000& 210,000
Al 210,000
BAMMEE 22X ¢ XS 2,400 2,400 0
Al 1,200
- 1,200
301 et A= 2,400 2,400 0
Al 1,200
- 1,200
12 JIEtE & =2 2,400 2,400 0
EMMMESE FX 2 XE4H 2,400,000& 2,400
Al 1,200
- 1,200
Ot sSA 2 22 670 820 A 150
201 LBt 670 820 A 150
01 AP 22| H| 670 820 A 150
OltisAlE EsEs 270
o OFM X4 S(Q| 200,000 200
o 840t 70,000 = 1JH 70
ORolotMs=Z 22l 400
o ZFJ| IO X 33,000 1074 330
o 88t 70,000& = 1JH 70
gl SAHH 2H 512,850 404,930 107,920
= 82,750
Al 64,375
- 365,725
ESHABEN g X 512,850 404,930 107,920
= 82,750
Al 64,375
- 365,725
SE2LIHE Q¥ FH 29 2,100 2,100 0
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SN BAERD
=2

M gp AW D
ool BERA 23 A EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsMdY Id 5 dHA2Y 20,000,000 20,000
303 &3 2,000 1,000 1,000
01 L& = 2,000 1,000 1,000
O=MME SHEIIH S+2M QIMES
2,000,000 2,000
307 21201 A 5,000 5,000 0
02 2ltF & E X 5,000 5,000 0
OJI=8stus 5,000,000& 5,000
NEtas sMSE I 23 135,500 120,000 15,500
= 67,750
Al 33,875
- 33,875
301 gt d= 135,500 120,000 15,500
= 67,750
Al 33,875
- 33,875
1224 = 135,500 120,000 15,500
OBAZQOE =MEXAI| HOHUMU ZOIE X
= 135,500, 000& 135,500
= 67,750
Al 33,875
- 33,875
A& Low Carbon & JH 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 plZtF A2 X 10,000 10,000 0
OMIE 248tA M2 A 10,000, 000& 10,000
BAgX= RF0IHE &F 6,000 6,000 0
Al 3,000
T 3,000
201 L4l 1,500 1,500 0
Al 750
- 750
01 At 2t 2l 1,500 1,500 0
OEALXNI2S0tIE CHHE L E22 HE
1,500,000& 1,500
Al 750
T 750
301 et 8= 4,500 4,500 0
Al 2,250
T 2,250
12 JEEd= 4,500 4,500 0
OBALINIR0tIE QUMEIE XS
4,500,000 4,500
Al 2,250
T 2,250




2N
X ZH -
L= B

el

S22 A
el BEIM A
BE2d 3 19

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SAIAS01I] &MY 10,000 10,000 0
= 5,000
Al 2,500
T 2,500
201 LB-2E| 5,200 6,900 A 1,700
= 2,600
Al 1,300
- 1,300
01 At 22l 2,400 2,400 0
Oels BtsE)| Aty 29g 2,400,000 2,400
= 1,200
Al 600
- 600
03 A2 S HI 2,800 4,500 21,700
OstZ A 18 2o a:2d 2,800,000& 2,800
= 1,400
Al 700
T 700
301 L2 A= 4,800 3,100 1,700
= 2,400
Al 1,200
T 1,200
10 #ALAHIZ &3 3,100 3,100 0
OBARH = 500,000 500
= 250
Al 125
- 125
Ogls USIAYE sl 2,600,000& 2,600
= 1,300
Al 650
T 650
12 JIEtEA 3 1,700 0 1,700
O eIl =4 AHIE 4 1,700,000& 1,700
= 850
Al 425
- 425
TH EI=EY 29 3,000 3,000 0
201 Let24d] 3,000 3,000 0
03 &AL Z I 3,000 3,000 0
OEd SF=Ed 2¢ 3,000,000 3,000
SMUE AEAY 25,800 10,000 15,800
= 10,000
Al 5,000
- 10,800
201 £B-2%H| 24,400 9,400 15,000
= 10,000
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n0

Kio

Hl w

20,000

800
800

120,000

120,000
118,600

H3r
Wikd
RIS

4,400

600
600

5,000
5,000
5,000

20,000

5,000
5,000

15,000
15,000

20,000
20,000
20,000

Off &t 24

5,000
9,400
24,400
3,000
1,400
20,000
10,000

Al

fir

5,000
5,000
1,400
1,400
600
800

Al

5,000
5,000
5,000
5,000

20,000

5,000
5,000
5,000

156,000
15,000

15,000
20,000
20,000
20,000
20,000

120,000
20,000
100,000
120,000
20,000
100,000
118,600
118,600
20,000
98,600

Al
Al
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e
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1% 200H

=

3,000,000
70,0002
20,000,000

=

el
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600,000
800,000
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S22 A
gel HAFY D
BE2d 3 19

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

03 Al S THHI 1,400 0 1,400
ouzZgdite =24 1,400,000& 1,400

ZEtd SASRE AL 83,300 75,450 7,850

101 @124l 12,300 0 12,300

04 JI2ZtHZ22HEE = 12,300 0 12,300
Ozed TARE Ald2eld 12,300
oJlE=a 41,0002 2P x5 4= +6F 9,840
o FFEE 41,000 x2H «4==+62 1,968
o AXt=F ¢ 41,0003 +x2H 63 492

201 et 22,000 30,000 A 8,000

01 At 22l 15,000 24,000 A9,000
O&sd TASEE At 15,000, 000& 15,000

02 =224l 2,000 1,000 1,000
O&EE TASEE At 2,000,000& 2,000

03 & AL2 I 5,000 5,000 0
OEAsH2taH A 5,000,000 5,000

307 21201 A 24,000 10,000 14,000

02 2t M2 X 24,000 10,000 14,000
OCd=ElUsse 29 12,000,000& 12,000
OMEUSEE 29 12,000, 000& 12,000

401 AIEHI L 201 25,000 35,450 210,450

01 A& HI 24,732 35,200 210,468
Ozad ZAEE |X - E= 24,732,000& 24,732

03 AlE 2 THHI 268 250 18
O AL |X - 2= 268,000 268

EAN=Y 243 9,050 7,000 2,050

201 L2l 7,050 5,000 2,050

01 At 22l 1,050 0 1,050
OZAN=sgds #4=g 70,0008 *53 »32 1,050

03 A2 S HI 6,000 5,000 1,000
OZEA=2 ot3tdlol 22 6,000,000 6,000

301 LEtE A= 2,000 2,000 0

10 #AtAHIE &3 2,000 2,000 0
OZUHE &3l 2,000,000& 2,000

S & SHILAY 15,000 0 15,000

201 et 15,000 0 15,000

01 At 22l 15,000 0 15,000
Od & SUEE AY 15,000, 000& 15,000
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2N HESED
M NG MEBEE X4
el BEHTA L folsaHe A Bel CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OFL  +329% HYXA 2 89
10,000,000 10,000
KA AHEH 2F 2 100,000 57,144 42,856
= 70,000
Al 15,000
- 15,000
SAE2&22 100,000 57,144 42,856
= 70,000
Al 15,000
- 15,000
=E SAEA & 22| 100,000 57,144 42,856
= 70,000
Al 15,000
- 15,000
201 Bt 4d9H]| 11,470 3,144 8,326
= 8,028
Al 1,721
- 1,721
01 AP 22| H| 11,470 3,144 8,326
OCHHEX B & X 10,000, 000& 10,000
= 7,000
Al 1,500
- 1,500
OSXNESAYE 22/A2E S &H&E4E
70,000 *7H x33] 1,470
= 1,028
Al 221
- 221
207 I & d| 64,530 54,000 10,530
= 45 172
Al 9,679
5 9,679
01 d32E<H| 64,530 54,000 10,530
OSXNESAYE BLHYE 49
64,530,000 14! 64,530
= 45 172
Al 9,679
- 9,679
301 et A= 4,000 0 4,000
= 2,800
Al 600
5 600
10 HALAHI B a2 4,000 0 4,000
OHXE X AS 4,000,000 =14l 4,000
= 2,800
Al 600
- 600
307 2iz2to| A 20,000 0 20,000




SN BHRHD
N XA MER 22
cel: sNEARL CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 74,000
Al 3,000
- 3,000
04 QI2HSH AL & 20,000 0 20,000
OFENW T2 29 20,000,000& = 14! 20,000
= 14,000
Al 3,000
- 3,000
HHSHAY (B2 74,453 63,443 11,010
ol A (St EH ) 31,414 28,978 2,436
o2l MERAY(BIE 31,414 28,978 2,436
101 e1214| 31,414 28,978 2,436
03 2INHAZ2ZXNHE = 31,414 28,978 2,436
OZ2=3H&4a 223 31,414
o JlE2g3(118e) 1,240,250 x 1 x12& 14,883
o &2 372,070 «1H x12& 4,465
0 A2t Z22LE
8,780% x1.5%x15A| 2t *x1&H x12& 2,371
o XK a3EIIE 70,2403 x192 x1H 1,335
0§22 YH 8,780& x1.5%80A| 2Fx1H 1,054
o JIAIXI &4l 62,0102 x1H x12& 745
o =4l 130,000& x1H ~12& 1,560
o WEEXH| 120,000 x1H ~12& 1,440
o 8&Z2=ZH| 70,000& x1H ~12& 840
o0 S=H| 120,000 x1H ~12& 1,440
o @& S| 1,240,250 1 1,241
0 23Xl = & AbH| 20,0002 1 x23| 40
J23H (#2281 43,039 34,465 8,574
2B HMEAY (B2 43,039 34,465 8,574
201 et d| 19,705 19,705 0
01 AP 2t 2| bl 19,705 19,705 0
Ogbt=24| 54,5903 x 172 x12& 11,137
Ol 7,000& x17H x6A! x 122 8,568
202 o4 | 8,640 10,560 A 1,920
01 2L bl 8,640 10,560 A 1,920
OsH W 10,000 x9H 8 x12& 8,640
203 &R F & 4,200 4,200 0
04 FEASHELIFFAH| 4,200 4,200 0
OS2I ELE2F=8H| 350,000 x12& 4,200
405 XHAHFEIEHI 10,494 0 10,494
01 XAt 2 E F S| 10,494 0 10,494
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OAMEEIHH
o MHIH (2E)
o MHHIR (5&)
o HHIH (6E)
o ANREX
OMsIl 7

OYzmD P

143,500& *5H
292,000& =3 M
400,000 = 16K
200,000& =6 M
600,000&
700,000&

9,194
718
876
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